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HX3—2 BEWICHRTHLEESNSHRICET SFE1/1) _ _ . _REEE | PHISHEE
SEMMOMNE BES 18181012 E T4 1/l | RriEHh | FEE B Pl
) SMERH O TinICHET 511 SfERHA
ﬁgﬁ% TEREOBHOEILADKRES TREDOHBEBSSLODKRES TREOBBOSILADKRES TREDHBSSLHADKRES
; 100kN/m#Z#B2% | 1.00 | 000 ~ 262 14115 |3mEBZ3B| — ~ — — — | 100kN/M%ZE#BZ5 | 1.00 | 11.41 ~ 3803\ 141.15 |3mZE#BZ5 - ~ — — —
znLst 1.00 | 262 ~ 1040 100.00 | FnS | 0.00 ~ 1040| 2.90 14.64 ZznLst 1.00 | 5.00 ~ 1141 100.00 | #nS | .00 ~ 3803 | 2.90 14.64
P 100kN/m#Z#B2% | 1.00 | 000 ~ 303| 14826 |3mEBZ3B| — ~ — — — | 100kN/m%E#Z5 | 1.00 | 1087 ~ 3800 14826 |3m%E#Ez3 — ~ - - -
znLs 1.00 | 3.03 ~ 1082 100.00 | =N | 0.00 ~ 1082| 2.99 156.10 ZznLst 1.00 | 5.00 ~ 10.87 100.00 | #nS | .00 ~ 3800 2.99 15.10
3 100kN/m#Z#8%5| 1.00| 000 ~ 339 1564.50 |3mZE#BZ B 0.00 ~ 019|810 15.66 | 100kN/m%E 25| 1.00 | 1057 ~ 3728 154.50 |3mZE#BZ 3| 8000 ~ 37.28| 3.10 15.66
Zhn s 1.00 | 3539 ~ 1118 100.00 | #nS | 019 ~ 1118] 3.00 15.16 ZhnLs 1.00 | 5.00 ~ 1057 100.00 | =nS | 5.00 ~ 3000 3.00 15.16
4 100kN/m#Z#8%25| 1.00| 000 ~ 339 1564.568 |3mZEHRBZB| 0.00 ~ 025|813 15.82 | 100kN/m%E 825 | 1.00 | 10654 ~ 3485 | 154.58 |3mZE#BZ 3| 2500 ~ 34.85| 3.13 15.82
Zh s 1.00 | 339 ~ 1118 100.00 | =nLsy | 0.25 ~ 11.18] 5.00 15.16 ZznLst 1.00 | 5.00 ~ 10.54 100.00 | #nLS | .00 ~ 2500 8.00 15.16
5 100kN/m#i#8%25%| 1.00| 000 ~ 315 150.22 |3mZ#BZB| 000 ~ 019|811 15.70 | 100kN/m##BZ% | 1.00 | 1056 ~ 2745 150.22 |3mZE#BZB| 25,00 ~ 2745| 3.11 15.70
Zhn s 1.00 | 515 ~ 1093 100.00 | TnRS | 019 ~ 1093] 3.00 15.16 ZznLst 1.00 | 600 ~ 1056 100.00| FnS | 6,00 ~ 2500| 8.00 15.16
100kN/mM%Z#BZ % ~ 3mZEBAD ~ 100kN/mM%Z#B% % ~ 3mEBZD ~
Zhn s ~ Zzh st ~ zhLst ~ st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/M%Z#BZ % ~ ImEEZD ~
zhLs ~ zhst ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/M%Z#BZ % ~ ImEEZD ~
zhLs ~ zhst ~ zhLs ~ ZhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/M%Z#BZ % ~ ImEBZD ~
zhLs ~ zhst ~ zhLst ~ ZhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/M%Z#BZ % ~ ImEBERD ~
zhLs ~ zhst ~ zhLs ~ ZhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/M%Z#BZ % ~ ImEBEZD ~
ZNLs ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
NS ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZnLs ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZNLs ~ ThLLst ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ TS ~ Zh s ~




